[image: image1.png]


Les nombres relatifs opposés.
Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	-7
	+
	8
	+
	7
	+
	(-9)
	+
	8
	+
	(-3)
	+
	9
	=
	


	 (-5)
	+
	1
	+
	(-7)
	+
	6
	+
	(-1)
	+
	4
	+
	7
	=
	


	5
	+
	(-8)
	+
	6
	+
	(-1)
	+
	8
	+
	(-2)
	+
	1
	=
	


	3
	+
	(-2)
	+
	4
	+
	9
	+
	6
	+
	(-4)
	+
	(-9)
	=
	


Les nombres relatifs opposés.
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Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	3
	+
	8
	+
	(-2)
	+
	(-9)
	+
	4
	+
	9
	+
	(-5)
	=
	


	(-1)
	+
	4
	+
	8
	+
	6
	+
	(-7)
	+
	(-4)
	+
	7
	=
	


	9
	+
	(-7)
	+
	2
	+
	(-5)
	+
	8
	+
	7
	+
	(-9)
	=
	


	7
	+
	1
	+
	(-8)
	+
	(-1)
	+
	3
	+
	(-6)
	+
	8
	=
	


Les nombres relatifs opposés.
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Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	5
	+
	(-9)
	+
	7
	+
	8
	+
	(-7)
	+
	(-3)
	+
	9
	=
	


	-8
	+
	3
	+
	7
	+
	4
	+
	(-4)
	+
	8
	+
	(-5)
	=
	


	2
	+
	7
	+
	(-6)
	+
	(-2)
	+
	9
	+
	5
	+
	(-7)
	=
	


	-4
	+
	7
	+
	1
	+
	(-6)
	+
	9
	+
	(-1)
	+
	4
	=
	


Les nombres relatifs opposés.
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Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	4
	+
	(-1)
	+
	(-6)
	+
	9
	+
	5
	+
	(-9)
	+
	1
	=
	


	4
	+
	(-5)
	+
	3
	+
	(-2)
	+
	7
	+
	5
	+
	(-7)
	=
	


	-6
	+
	2
	+
	9
	+
	(-2)
	+
	4
	+
	(-8)
	+
	6
	=
	


	3
	+
	6
	+
	(-8)
	+
	5
	+
	(-7)
	+
	8
	+
	(-5)
	=
	


Les nombres relatifs opposés.
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Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	9
	+
	7
	+
	(-5)
	+
	(-2)
	+
	(-6)
	+
	6
	+
	5
	=
	


	3
	+
	(-8)
	+
	6
	+
	1
	+
	(-1)
	+
	8
	+
	(-4)
	=
	


	(-5)
	+
	9
	+
	4
	+
	(-6)
	+
	5
	+
	(-4)
	+
	1
	=
	


	(-2)
	+
	3
	+
	7
	+
	(-3)
	+
	(-7)
	+
	7
	+
	9
	=
	


Les nombres relatifs opposés.
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Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	3
	+
	(-2)
	+
	4
	+
	2
	+
	(-5)
	+
	(-3)
	+
	8
	=
	


	(-7)
	+
	6
	+
	(-4)
	+
	1
	+
	(-1)
	+
	8
	+
	7
	=
	


	-2
	+
	4
	+
	3
	+
	(-6)
	+
	6
	+
	2
	+
	(-8)
	=
	


	2
	+
	(-3)
	+
	7
	+
	5
	+
	(-7)
	+
	(-9)
	+
	3
	=
	


Les nombres relatifs opposés.
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Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	1
	+
	(-4)
	+
	4
	+
	6
	+
	(-1)
	+
	5
	+
	(-7)
	=
	


	-7
	+
	5
	+
	(-6)
	+
	7
	+
	4
	+
	6
	+
	(-1)
	=
	


	3
	+
	(-9)
	+
	5
	+
	(-2)
	+
	(-3)
	+
	7
	+
	9
	=
	


	6
	+
	(-8)
	+
	2
	+
	4
	+
	(-6)
	+
	8
	+
	(-3)
	=
	


Les nombres relatifs opposés.
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Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	8
	+
	(-4)
	+
	9
	+
	(-1)
	+
	1
	+
	4
	+
	(-7)
	=
	


	-4
	+
	6
	+
	(-8)
	+
	4
	+
	2
	+
	(-3)
	+
	8
	=
	


	9
	+
	7
	+
	(-9)
	+
	8
	+
	(-2)
	+
	5
	+
	(-8)
	=
	


	(-6)
	+
	(-3)
	+
	1
	+
	5
	+
	(-1)
	+
	3
	+
	9
	=
	


Les nombres relatifs opposés.
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Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	7
	+
	(-4)
	+
	3
	+
	(-8)
	+
	(-3)
	+
	2
	+
	8
	=
	


	-5
	+
	3
	+
	9
	+
	(-1)
	+
	4
	+
	1
	+
	(-9)
	=
	


	-7
	+
	3
	+
	(-4)
	+
	2
	+
	(-6)
	+
	4
	+
	7
	=
	


	5
	+
	(-6)
	+
	8
	+
	(-5)
	+
	1
	+
	(-2)
	+
	6
	=
	


Les nombres relatifs opposés.
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Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	4
	+
	(-1)
	+
	(-4)
	+
	2
	+
	6
	+
	(-2)
	+
	5
	=
	


	6
	+
	1
	+
	(-3)
	+
	(-1)
	+
	5
	+
	2
	+
	(-5)
	=
	


	4
	+
	8
	+
	9
	+
	(-3)
	+
	7
	+
	(-7)
	+
	(-9)
	=
	


	-7
	+
	6
	+
	(-2)
	+
	4
	+
	(-4)
	+
	2
	+
	8
	=
	


Les nombres relatifs opposés.
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Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	6
	+
	(-9)
	+
	(-4)
	+
	5
	+
	9
	+
	(-6)
	+
	1
	=
	


	-2
	+
	3
	+
	8
	+
	(-3)
	+
	2
	+
	(-7)
	+
	4
	=
	


	4
	+
	(-1)
	+
	9
	+
	(-4)
	+
	5
	+
	1
	+
	(-3)
	=
	


	-5
	+
	9
	+
	2
	+
	6
	+
	(-2)
	+
	8
	+
	(-8)
	=
	


Les nombres relatifs opposés.
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Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	8
	+
	(-6)
	+
	7
	+
	3
	+
	(-7)
	+
	(-8)
	+
	2
	=
	


	7
	+
	4
	+
	(-6)
	+
	(-4)
	+
	8
	+
	9
	+
	(-8)
	=
	


	(-9)
	+
	2
	+
	(-1)
	+
	5
	+
	1
	+
	(-5)
	+
	4
	=
	


	(-7)
	+
	(-1)
	+
	8
	+
	1
	+
	3
	+
	7
	+
	(-2)
	=
	


Les nombres relatifs opposés.
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Calcule les additions suivantes en barrant les nombres opposés qui s’annulent.

	-6
	+
	4
	+
	(-3)
	+
	(-4)
	+
	2
	+
	3
	+
	9
	=
	


	7
	+
	(-6)
	+
	2
	+
	5
	+
	(-2)
	+
	4
	+
	(-5)
	=
	


	-4
	+
	8
	+
	(-9)
	+
	7
	+
	1
	+
	(-7)
	+
	4
	=
	


	3
	+
	(-1)
	+
	9
	+
	2
	+
	1
	+
	(-5)
	+
	(-9)
	=
	


� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���





� INCLUDEPICTURE "http://www.clipartlord.com/wp-content/uploads/2013/06/penguin71.png" \* MERGEFORMATINET ���








